_
1:0

O

h 9) P

M



MM‘;// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

MEAN-HI

Mean is the arithmetic average of a data set. This is found by

adding the numbers in a data set and dividing by the number of
observations in the data set. HTET Ush ST U HT AT 4T
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The Mean

__ =
i

N
Here,
Y " represents the summation

X represents observations
N represents the number of observations .
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If the mean of the observation x,x+3,x+5,x+7,x+10 is 9 , find
the mean of the last three observations? Ife SaAHT X,3+3,x
+5,x+7,x+ 10 HT AT 9 B, A 3ifcw ofiT SAaeniht a1 are

@rst
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What is the arithmetic mean of 2, 4, 6, 8, ..cceeeenennnn.. 24,30 ? 2, 4, 6, 8,
............... 24,30 T SRR ATET =T 212
a) 55 b) 45 ¢) 30 d) 16
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If x 1s the arithmetic mean of n observations X1, X2 X3, ............ ,Xn, then
( X1X) + (X2-X)Feueeeeeennnns +H Xpn)=? 4 x , n AR X1, X3 X3,
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There are 50 numbers . Each number 1is subtracted from 53 and the mean of the
number so obtained is found to be -3.5 . Find the mean of the given numbers ? 50 =IT
Tl T GE&IT H 53 W AT SITAT & I UTY &A1 67 =S -3.5 ITAT Srar 81 e 1o a1t &t

| J1d hR?
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MEDIAN -HTT&IHT

The median 1s the middle number 1n a data set when the numbers

are listed 1n either ascending or descending order. HEIHT Ush XA e T

T HE TEAT © e HEATT STRIE AT 3TaIeT 3hH H geleg adl o
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If the total number of observations (n) is an odd number, then the formula is given below:
afe fRufrdl #t $a Fen (n)Te fawm den & @ TR e g

| n+1 th |
Median = ) observation

If the total number of the observations (n) is an even number, then the formula is given
below: af¢ fCwWiEl &t od &A1 (n)Th ¥9 &A1 §, d YA 4 far 7 8-

(g)thobsermtim + (f + l)thobsermtifm
2

Median =
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The run scored by 11 member of a cricket team are 15, 29, 43, 13, 31,
50, 20, 27, 56, 34. ,find the median score ?

U fohehe 19 o 11 T&&T g7 SHTC T M 15, 29, 43, 13, 31, 50, 20, 27,
56, 34 & OISIBT 37er T8 HTd 27
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Find the medianof2,10,15,11,5,8?

2,10, 15, 11, 5, 8 T HT JTd h?
1.9

2.8
3.10
4.11
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Find the median of the data -2, 5, 1, 5, -1, -4, 2, 8, 11, 6.
2) 2b)3.5¢) 2.75 d) 3
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The median of the following terms 33, 13, 24, 18, 29, 26, 44 was determined: Later it was
found that 18 was written by mistake instead of 30, now what will be the changed median?
FrforRae sreat @ wemsew 33, 13, 24, 18, 29, 26, 44 Fwtita form T o 96 § a8 TR R 18
T 30 F TSI Tt & T T o, 27t ST gt ’ied T gi?

1.29
2.21
3.28
4.26
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MODE-SgdIdh

The mode is the value that occurs the most often in a data set and the range

1s the difference between the highest and lowest values in a data set. e a8
A 2t & S foredft 821 A2 o ged ftre o) Aar € S S 8 o Ivuaw 3R

=T AT & S @ S AT '
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The wickets taken by a bowler in 12 cricket matches are as follows:
3,7,5,4,6,1,4,3, 2,4, 3, 4 .Find the mode of this distribution. 12
fordhe A1 5 T Tigast g0 g T fae S IERE: 3, 7, 5, 4, 6, 1, 4,
3,2, 4,3, 4. 5 T GgAF J1d DL ?

a)4b)1¢)2d)5
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Karl pearson’s formula

The relationship between mean median and mode can be

expressed by using Karl Pearson's Formula as:
(Mean - Median) = V2 (Mean - Mode)

3 (Mean - Median) = (Mean - Mode)

Mode = Mean - 3(Mean - Median)

Mode = 3 Median - 2 Mean.
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1) Which of the following relation is true?
a) Mode = Median — Mean

b) Mode = 3Median + 2Mean

¢) Mode = 3Median — Mean

d) Mode = 3Median — 2Mean
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The value of mode is 10 and median is 5. Find the value of mean?

Afe S 1AM 10 TT AT T M 5 8 A1 AT J1d ISR ?

1.2.5
2.5
3.7.5
4.1
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Find the mean of the prime numbers between 9 and 50? 9 3K 50 &%
S SIS HEATSHI ol /TS 1A hIfSTT?

1. 60
2.30
3.15
4. None of these
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Range “URER (")

Range = Highest observation — Lowest observation
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What is the range of marks scored by five students in Reasoning which are as follows —

65,75, 82,92 and 80?

i o uier SmEt g = e iRt A fr TS W IFR E -

65, 75, 82, 92 3 80 1.20
2.25
3.27

4.30
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What 1s the range of heights of ten persons in a family which are as follows — 165,
175,182,192, 180,170, 180, 185, 145 and 150 cm

U URER | 29 saftRAl St SErgdi st ST @ R S EER E - 165, 175, 182, 192,
180, 170, 180, 185, 145 3T 150 G

a)42b)40c) 47 d) 45




